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OHIZIASEI| ABILA 2l
200,00024%13] 200
OMHSZEY| 2ARAE 400,00024%13] 400
OSH|(2F2HYR) 8,00021%521+804] 3,200
2 ZZ29H| 1,000 0 1,000
OsiZ=Tos c2 252 1,000,00024 1,000
202 Ot 14,000 14,000 0
01 =00l 14,000 14,000 0
OHBRHY DL 200, 000R+501+ 122 12,000
OBZHAE AILT H2  100,0002+221% 102 2,000
203 LR 4,000 4,000 0
GPNEESSIEEESST] 4,000 4,000 0
OBBBTAY HLET 2,000,00024 2,000
OB ZAIL Q2= 1,000,00024 1,000
OYEC RS 1,000,00024 1,000
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201 Ler2| 23,910 20,850 3,060
01 AR 22l 8,480 8,600 AT20
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150247,0002123] 2,100
OBZMLLLD ALE DXM R
1502/%10,00024x23] 3,000
ODBTRE ARE(EY S) 7
350, 00024 %30H 1,050
OBZNLRYS SO B0 M
55,0002 147123 1,540
OJIAAE ALE 242 30,0002 128 360
O2SZHH 22 L $42  30,0002128 360
ORISOIM AtE 242 S0R*70024+23] 70
2 ZZ29H| 15,430 12,250 3,180
OBZNHSLD DN 2z SHRI 15,430
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= 2,000
= 2,000
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= 2,000
= 2,000
02 LB SANHE L 4,000 4,000 0
OJeleld =248 N 4,000,000& 4,000
= 2,000
= 2,000
EAMOIEN JIJ QIMEIE XIs 24,176 24,176 0
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[ 3,626
= 8,462
301 LEE S 24,176 24,176 0
= 12,088
[ 3,626
= 8,462
12 JIEt2ai= 24,176 24,176 0
OBAHIEN QHEE XIH 24.,000,000& 24,000
= 12,000
[ 3,600
= 8,400
OXtSit SAHIEN 29 176,000 176
= 88
[ 26
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402 QI2EXHE0IHE 2,300 0 2,300
= 1,380
= 920
02 QIZFRH2 A 22 (01 M THE) 2,300 0 2,300
OJIEE N=sAE2 E3AY
100,000 *5CH+600, 0002 +3CH 2,300
= 1,380
= 920
g2 HHl S4 25,000 40,000 A15,000
307 GI2+0|: 25,000 40,000 A15,000
02 QIHHAAIHES 15,000 30,000 15,000
OXSZIsEEE 23] A 15,000,000& 15,000
03 LAHHHEE2IHIEE 10,000 10,000 0
OXSZIIs2EE s 23| 10,000,000& 10,000
NHSIHHE A 22 3,556,000 3,741,000 185,000
= 1,966,900
o= 578,250
= 1,010,850
FWIDN =yl BN L 1,335,000 2,140,000 /805,000
= 570,000
< 285,000
= 480,000
402 QI2EXHE0IHE 1,080,000 1,890,000 /810,000
= 540,000
o= 270,000
= 270,000
02 QIZFRH2 A 22 (01 M THE) 1,080,000 1,890,000 /810,000
O&I|IAtsXt FO0HKIA 12,000,000 *90CH 1,080,000
= 540,000
o= 270,000
= 270,000
405 XHAHESH| 255,000 250,000 5,000
= 30,000
o= 15,000
= 210,000
01 AL = ZF =] 255,000 250,000 5,000
O32&I|A=sXt 04 51,000,000 *5CH 255,000
= 30,000
o= 15,000
= 210,000
&I|st2Xsxt 08 K& 1,115,000 690,000 425,000
= 770,000
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o= 162,000
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O&D|=t2XtaEXE F0HKIE 20,000,000 «540H 1,080,000
= 756,000
o= 162,000
i 162,000
405 XHAHESH| 35,000 0 35,000
= 14,000
o= 3,000
i 18,000
01 AL =S ZF =] 35,000 0 35,000
OZ=&|=t=XtsSxt 01 35,000,000 +1CH 35,000
= 14,000
o= 3,000
i 18,000
&II0IEXE 700 XI& 18,000 18,000 0
= 9,000
o= 2,000
i 7,000
402 QI2EXHE0IHE 18,000 18,000 0
= 9,000
o= 2,000
i 7,000
02 QIZFXH2 A 2 (01 M THE) 18,000 18,000 0
O&EII0IEX FOHKIA 1,800,000+ 10CH 18,000
= 9,000
o= 2,000
i 7,000
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o= 126,250
i 343,850
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O:L=3®X ZIIHIXL K&
1,600, 0002 *400CH 640,000
= 384,000
o= 64,000
i 192,000
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o= 17,100
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11,000,000 *3CH 33,000
=2 19,800
o= 3,300
o 9,900
OAHEI|H AXWH AFS 16,500,000 *4CH 66,000
=2 39,600
o= 6,600
o 19,800
CLPGSI=Xt AIXt+ XI& 4,000,000&*50CH 200,000
=2 100,000
o= 30,000
o 70,000
OUel0| S&XHeE LPGXH M 2HKIJ At
7,000,000 *5CH 35,000
=2 17,500
o= 5,250
o 12,250
AHae| SEHH 1,610,392 1,350,500 259,892
2 805, 196
= 241,558
o 563,638
ZdIOIE XMelXI& 1,610,392 1,350,500 259,892
=2 805, 1%
o= 241,558
o 563,638
402 2IZHRHE01H 1,610,392 1,325,500 284,892
=2 805, 1%
o= 241,558
o 563,638
03 CIZ+RIEAIAHI 1,610,392 1,204,000 406,392
OZH0IE =& XS KA
4,39%,000&*52= 228,592
= 114,296
o= 34,288
o 80,008
OZdI0IE EHH2 KA
3,520,000&*345= 1,214,400
= 607,200
o= 182,160
o 425,040
Obl=8 &dIOIE EHH™2l KA
5,400,000&*31= 167,400
= 83,700
o= 25,110
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TT] = 58,59
ReiEy 25 677,712 632,119 45,593
= 40,000
= 16,500
2 621,212
N 28,912 110,752 18, 160
NISEEETSINEES 84,612 86,452 A1,840
101 @121l 52,361 50,081 2,280
SIEIEEDV=T-ES 52,361 50, 081 2,280
OReIEs U x|z 52,361
07123 73,28024+1801+302 39,572
0= BRI 73,2802+ 1821462 7,915
0=oIeiZ 47,487 ,00024%4. 5% 2,137
WEEIEE 47,487, 0002453 .495% 1,660
0L QIF)| U TE 1,660, 0002446 14% 102
InE=EE 47,487 ,00024%0. % 428
0ATHE & 47,487 000241, 15% 547
201 k2| 3,400 7,260 3,860
01 ArR 22l 3,400 7,260 3,860
o8| 3,400
0FQ#X| 40t A 55,000242004 1,100
0FERHT TNAE 222 M
2,00024+40004 800
0RET BIEA 2uaHE  100,0002x5704 500
0REX Fazs 22T 1,000,002 1,000
206 24| 400 400 0
01 THE | 400 400 0
OS2 PEE 2279 200,00021425 400
01 YPHEFIZ 15,872 165,872 0
EN 2,000 2,000 0
OFALE NelEs AR &4
50,00024+302! 1,500
ORI SEA DEEA
50,00024#501+22) 500
12 JIELSAS 13,872 13,872 0
42| TIGHYRIS D= X
200,00024+342 6,800
22| IIHYNE 2Y SSNA(AE2Y)
2,60024%3401+802 7,072
307 QI2H0IF 2,579 12,839 £260
04 CIZFEAAIE % 4,000 4,000 0
OROISEES SAKI 2,000,002 2,000
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. NHEE 25
ol ORSAIZE S YR (Sr9): &)
% - (5]
S - B - S9I(B) - HIRAY - BAS Ofl ke S HIDS
= 2,800
01 =8l 8,000 0 8,000
OOFMSZSTHULAIE XA (ZEE 7))
2,000,000 =4LH 8,000
= 4,000
& 1,200
= 2,800
402 BIZtAtE0lA 525,000 500,000 25,000
= 36,000
& 10,800
= 478,200
02 RIZEXHEAIS 22 (01 ™ THE) 525,000 500,000 25,000
OOrds=Lloit AL XIE
2,500,0002 %210t 525,000
= 36,000
& 10,800
[ 478,200
=ZIHe 492,568 340,956 151,612
PN P 492,568 340,956 151,612
FEHEFEH 21,178 26,428 N5,250
101 QI24H| 880 838 42
(CAPAEADN SN S b 880 838 42
OFE2SAL 2H&Y 22Y
73,2803 %621%23] 880
201 Ler=g| 8,698 13,990 Nb,292
01 AFR2te|d| 8,460 9,010 550
OEEAMD HHARE 7 (2YHA 5)
500,000 65 3,000
O+22Z YHEHl 7 200,000 +35 600
O+Z2SAL) 2NEE SXts
500,000 22 1,000
OANZIFE 225 7 100,000&+35 300
O4ZQBAID VUM 242
100,000& %104 1,000
OSgHI(BZXNE ZRFN)
8,000 *421x804| 2,560
2 5244 238 4,980 N4, 742
OHHEAIE N=EHE 202D Sties
19,8002 * 12 238
202 04| 11,600 11,600 0
01 =LH04HI 11,600 11,600 0
Ot R 200,000 *421x 122 9,600
OthiEAle, s33E4 N=EH
100,000&*221x 102 2,000

- 505 -




SN ERPIML
HE: 2EIM
ol ATl 2L (=EIEE))
SA - BB BRI(E) - IRAY - BES ofles e HIDE
S 2cd 391,420 312,328 79,002
201 =] 30,820 44,808 13,988
01 Attt 20,860 37,308 A16,448
OZ&staa kMg 25,0003 804 A+23] 4,000
OSSadd HoAgE 7 (FArET S)
25,0002 *80H 223 4,000
O2EsiEA BN 2
67,0002 *80H 213 5,360
O0l=A=t8d Xtz 2,500,0003*34! 7,500
02 E=5=24H| 9,960 7,500 2,460
O=saad dlies 25,0002 *26 0 2% 12 7,800
O=Saad =ke=s 30,0003 #3042+ 123 1,080
OSSeHaa HIaERs 5,0008+ 18I+ 123 1,080
307 elztolA 163,200 159,120 4,080
05 2SS 163,200 159,120 4,080
O3 setaa |XA2el  170,000& 800 A+ 123 163,200
401 AIZHIZ R0 197,400 108,400 89,000
01 AlZHI 197,400 108,400 89,000
OSSatd4 FHl(AR24d)
280,000 8002~ 22,400
OZBZ M AMAIE EX 25,000
OHlate &X 2,000,000 *107H 2~ 20,000
ootalA =Rl AX) 1,000, 000& 50 2 5,000
O3St A2 N (SHEAL TH2E)
40,000,000& 40,000
O0l=4 s=3ta4 1 €% 110,000
EA=ry 60,000,000& 60,000
0g=H= 50,000,000 50,000
B HANE 23 400 2,200 21,800
301 LEE S 400 2,200 /1,800
12 JIEt2ai= 400 2,200 A1,800
ORItetF Al 23H| 400,000& 400
T2USH(EA AF) ZAI AILE 242 79,570 0 79,570
201 =] 16,970 0 16,970
01 Attt 11,575 0 11,575
OANEXNSHATA 212 +=o
2,000,000 23] 4,000
OAlZASHFAEXI 01&H| 2,000,000 23] 4,000
OAFHAIZE HAL 24| 55,0002 *652] 3,575
02 E=5=4H| 5,3% 0 5,3%
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HE: AR
ol SEAE2F 2 (el &)
% - (5]
S - FE - SRI(E) - HIRARY - BES il &k S HmEST
OASXSHAEX] SLRS
20,0002 %130 2x 122 3,120
OASXSHAEX] MRS
10,000 * 1371 A+ 123 1,560
OAFAZ 22 RERS S
5,500&* 130 2+ 103 715
301 LESEF 2,600 0 2,600
12 JIEIE4= 2,600 0 2,600
O2AFHZTAIH &SH| 40,0002 #52]* 13044 2,600
401 AlEHIZ 20| 60,000 0 60,000
01 Al&HI 60,000 0 60,000
OAISXSTHHFEX] F& &X
30,000,000 *2CH 60,000
PN b= el 647,178 405,308 241,870
= 1,200
o= 18,600
= 627,378
A=kt 647,178 405,308 241,870
= 1,200
o= 18,600
= 627,378
A= HRFE 256,472 310,118 Ab53,646
101 1248| 39,572 100,498 260,926
04 JIRIH2 2 EE 39,572 100,498 260,926
OL2-ot&Y MY D|4e=H oI
73,2802 *20Q1x27 39,572
201 LBH2AL| 39,450 9,830 29,620
01 At2teld| 6,560 6,480 80
OCHEZs =H 28| 500,000& *23] 1,000
Q&N soiHII= /EXHE ===
3,000,000& 3,000
OS2 (NYA=SADREER)  8,0002+4014804! 2,560
02 3=24H| 32,890 3,350 29,540
O&=HD IS8 3IHI(H3IH]) 2,300,000& 2,300
OHDISKDES g8 QRS
430&+3,000A 1,290
OQUEM D] =8E SEel S |RAUEF
1,000,000 &*7IH 2~ 7,000
OS-SI| ZAIFtHet SN2
2,000,000& * 1102 22,000
OS-SI| ZAI5tHet &MI|1e3
6,250 * 122 *40H A& 300
202 Od| 11,600 11,600 0
01 =LHOIYI 11,600 11,600 0
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SEH RS e (Sl &)
S5
2N -3 - AA(3) - HRAY - BES Ofl &kt a‘&g Hws2
ORA=EES 28 200, 0002421+ 128 9,600
OEEBRIYD 48 100,0002+201+ 102 2,000
206 TH=H| 14,000 134,340 A120,340
01 THE | 14,000 34,340 A120,340
OTEEES MSLNHSS M 20021%50,0000H 10,000
OUFHDIS 442 YRES ¥ Bys)|cs
22 AEIH M 200&+10,0000Hx23 4,000
01 YPHEFZ 1,350 1,350 0
12 JIEI2AS 1,350 1,350 0
Ozeige| A1 24 1,350
0MD| EHED] 50,0002+ 1021 500
01SIBE AFBTH SIgt 35,00024+1021 350
OUXIHIIZ AT BAZ 100, 00024 #521 500
401 AIEHIZL S| 150,500 52,500 98,000
EL 150,500 52,500 98,000
OMBMYD| BYSIIZX A8 R L3
200,00024*10HA 2,000
OO0ISA! MaD| ZHSI| ZABIHEH &X|
4,500,00024+330H 148,500
NEEEPS 178,520 50, 190 128,330
201 k2| 43,520 3,59 39,930
01 ArR 22l 35,520 3,59 31,930
OMED| =2ltiE E2S T
3002+4F5+4, 50004 5,400
ONEEE 8 28 7
3,00024+3%5+3,0007H 27,000
OMED| BiE 2R 28 S40 RIF
55,00024+2004 1,100
OHEZS 2el+Hg e 40,00024+254 1,000
OHIIEK 22l+Hg el 85,0002t 1274 1,020
02 22| 8,000 0 8,000
OMEBMHD| BHEOHT SR
400,00024#200H 2 8,000
206 =4I 10,000 26,600 216,600
M=l 10,000 26,600 216,600
OBl 4718 22 250,00024+404 10,000
401 AIEHIZL S| 125,000 20,000 105,000
01 A&l 125,000 20,000 105,000
OMZHIIZ 25T SEk2| 21
2,000,00024#25H 50,000
OTEE SUIDKZ &X| KA
15,000, 0002+5H 75,000
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& Aazgtdd
ol AR =gt (et &)
% - (5]
S - B - S9I(B) - HIRAY - BAS Ofl ke S HIDS
Heges s8N EX) 28,600 5,000 23,600
= 1,200
& 5,340
z 22,060
206 MH=H| 13,800 0 13,800
& 4,140
z 9,660
01 =8l 13,800 0 13,800
OoNgss+HY 22AY 13,800
oEEFNY 7 4,000 2*650 4 2,600
S 780
z 1,820
OMHESAHRITH M= 280,0003*40HK 11,200
& 3,360
z 7,840
401 AIZHIZ R0 14,800 5,000 9,800
= 1,200
& 1,200
z 12,400
01 Al&HI 14,800 5,000 9,800
OlHe =&ty &F N2AZ
14,800,000 1902~ 14,800
= 1,200
& 1,200
z 12,400
SsHII= +HICIAIE 2,000 0 2,000
S 600
z 1,400
401 AIZHIZ R0 2,000 0 2,000
S 600
z 1,400
01 Al&HI 2,000 0 2,000
OgslllZ s=HXMCIAL 250,000 +8E 2,000
S 600
z 1,400
HIISXCIAE =X =X 75,000 15,000 60,000
402 BIZtAtE0lA 75,000 15,000 60,000
01 RIZEXHEAII SR (XHHITHE) 75,000 15,000 60,000
OFAL 1 0= & 43| £ 1let 75,000
OFAL 1 &= 60,000,000 *14{ 60,000
0431 012 & A& 15,000,000 %14 15,000
d2HDIE 2CliE =R0IME 106,586 0 106,586
& 12,660
z 93,926
101 QI24H| 102,450 0 102,450
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& Aazgtdd
SETT RS ) (49l )
SA - BB BRI(E) - IRAY - BES ofles e HIDE
=5 12,660
= 89,790
04 JIZHMI22NESE s 102,450 0 102,450
OdgH)I= 2cIiE =<0I 102,450
== 73,2802 *401x219 64,194
= 12,660
= 51,534
O==Xt==g 73,2802 *401x452 13,191
0AR =& 73,2802 %421+ 2,639
0=2183 77,385,0002 %4 5% 3,483
0HHEE= 77,385,000 *3.495% 2,705
NRAZE= 2,705,0002%6. 14% 167
NE=EE= 77,385,0002*0. 9% 697
OtHiEE = 77,385,0002 *1.0% 774
Oul=Hl & HNES T 150,000 42! 600
0= = 20,0002 *221x250 10,000
0Z+AMH| 4,000 %421x250 4,000
201 Ler=g| 4,136 0 4,136
01 At2t2lt] 4,136 0 4,136
QdEM D] ZCltiE SR0IMY 28 AR2S
- 4,136,000& 4,136
MEH D | =S 2t 4,966,453 2,784,729 2,181,724
= 6,200
= 6,200
= 4,954,063
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